PROFESSIONAL EXAMINATION BOARD

Group-2(Sub Group -4) Labour Inspector and other equivalent post
Recruitment Test

10th January 2017, 09:00 AM
Topic:- General Science

1)
Question Stimulus :-

When a plastic straw is rubbed with polythene, the kind of charge that the plastic straw would carry is / SId T

WIee® T DI UIerd & AT WIST 14T 7, O WIRed 1 | ol °rot Scad g1 a1 gl -

Positive charge / YTHD TSl

Negative charge / FBUTHS TSl

Both positive & negative charge / ﬂ*ﬁ, YATHSD 3R BUTHS ISt

Neutral / gcd

Correct Answer :-Negative charge / BUTHD Cic

2)

Question Stimulus :-

Identify the INCORRECT statement / TTld DY Cal ug?nﬁr&
e During inhalation, ribs move outwards / Q'-I'\IIQT ?ﬁ %? a?'F'T, WWW ﬁ 3ﬂ'\" \_rl'l_cﬁ %
e During inhalation, diaphragm moves down / qa T F E?R'IT‘T, STATHTH 1Y $t 3R SITaT 8
e During exhalation, ribs move outwards / ﬂ"l’ﬂ' Eﬁsﬁ % aTI_"I', WWW 3)'1 s?rh? \_rl'l_cﬂ %
e During exhalation, diaphragm moves up / T Eﬁsﬁ & ?R'Fl, STANFTH 3 UR P 3R 3TaT 8

Correct Answer :-During exhalation, ribs move outwards / qrd Eﬁ@ﬁ & aTFT, Wﬁﬂﬁw P 3R STl

3)
Question Stimulus :-
Poly wool is a mixture of two types of fibres which are / qrert qd ]| TFTEE# &1 forgror %, il %
e Polythene + wool / Tiaidi| + q@
e Wool + silk / Td + =¥
e Cotton +wool / @l + qd
e Polyester + wool / gidex + qd
Correct Answer :-Polyester + wool / UTAREX + T

4)



Question Stimulus :-

Walls of the arteries are thick and elastic because / ywfral 1 T:ﬂﬂﬁ ad Gﬁ'\’ LRI @‘cﬁ
%: ﬂ-&

e Arteries carry oxygenated blood from heart to different parts of the body / Wﬁl’qsf,
T ¥ SHTRiioge vad IR & A= el a6 & =it €1

e Arteries carry deoxygenated blood from heart to different parts of the body /

yHfAaT, faeiaiivifAa $ftR & geu ¥ IR & fafi= =l 9 @ ot 21

e Arteries carry oxygenated blood from different parts of the body back to the heart / ?-I'Flﬁ'!ﬁ', Gmm

qd IR F fafi= Rl 9 g g # & St €1
« Arteries connect veins to capillaries / YAfal, RIS & HR@ETT F Shedt 1

Correct Answer :-Arteries carry oxygenated blood from heart to different parts of the body

/ YHfT, geu A SiiRfivged Y9d IR & fafi= il a9 o <t 21
5)
Question Stimulus :-

Pachhmarhi biosphere consists of one national park named / TIHg¢! SigHsd H UH
AR Ur @, oy 7w § -

Khaziranga National park / SISl TI'@T[B?IFT

Kanha National park / &T-gl ?T@TIBEIFT
Corbett National park / ®id¢ AXFd UTH

Satpura National park / 9d4sT I S

Correct Answer :-Satpura National park / IdYsT 191 ITH

6)
Question Stimulus :-

A gas X, turns lime water milky. This gas is a raw material for the process of

photosynthesis. Name X. / 3 X, T3 & U1 P gitan a1 <t 81 98 9 Y11 WReI9or &1 ufssan
P fore =it el 81 X &1 9 Jas3|
* Hydrogen / BIggIoM
« Nitrogen dioxide / FTIgcIoH SE3HFIES
e Carbon dioxide / BTI SIS HTFATZS
* Oxygen / BTG
Correct Answer :-Carbon dioxide / BT SIEIHTRISS
7)

Question Stimulus :-



An aqueous solution of Sodium hydrogen carbonate is / TNfSUH TFIISH PIEAC BT ety fAda— gar g -
e acidic in nature / Wﬁ[ ¥ et
e basic in nature / Elq?ﬁf ¥ gt
® neutral in nature /Wﬁﬁl@ﬁ
« amphoteric in nature / UHfd & IuTHf
Correct Answer :-basic in nature / t@ﬁr ¥ &g
8)
Question Stimulus :-
A nanosecond is / TP A5 S g
e One millionth of a second / &% JA&S T ¢H ARIdl g1
o One billionth of a second / T®% AFS F1 UH 3RTdl fgTT
e One hundredth of a second / T® ﬁﬁﬁ?ﬁ?ﬂm
 One tenth of a second / T® s &I gaal gl
Correct Answer :-One billionth of a second / U% A%s &1 U& R4l fgxT
9)
Question Stimulus :-

When a person stands in front of a mirror, an erect image where ‘right appears left and left appears right’ is

obtgined\.vThis \Ivnirror is an examp“lle of aw/ old Th Hfed anUT & 9THA sl ?IT‘IT %, Uh MR ofa ameh %
gl /T, 9141 T & Sfik 94T, grai| BT guur ISIe T gl

e Concave Mirror / GWE&UT
e Convex mirror / 3XId a'd:UT
e Plane mirror / HJH GUUT
e Spherical mirror / TﬁWE&UT
Correct Answer :-Plane mirror / SHAA GUUT
10)
Question Stimulus :-
The life cycle of a silkworm is / YW & HIGI P Siia— T gl
o Egg->Caterpillar->Pupa-> Adult / 3{ST-> Eﬁ» gUI-> qg¥h

Egg->Tadpole-> Adult / 3{3I-> TEUNA-> TUH

Egg-> larva -> Adult / 3{3I-> @@l -> TR®

Egg->Caterpillar->Larva > Adult / 3{ST-> S&II-> A@> TS



Correct Answer :-Egg->Caterpillar->Pupa-> Adult / 3{SI-> &ll-> TUT-> qI¥h
11)
Question Stimulus :-
In summer, people prefer wearing / Tl'lﬂﬁ', T g Ug-H1 Nig P3d %
e Light coloured clothes as they absorb less heat / 3@‘7 [T ® EFQ%', Rife 3 HH G CHT Gmﬁﬁ?l H’T{ﬁ %'I
Dark coloured clothes as they absorb less heat / TI?%T‘T * 371%_', P dg P H SHCHI AT B %'I

Dark coloured clothes as they absorb more heat / WW & Q)TI@;, NP 9 3iftre SHoAT SraeNfd Hd
gl

Light coloured clothes as they absorb more heat / §&F 3 & HUS, Hifd d AfUF ST
AT Fd &l

Correct Answer :-Light coloured clothes as they absorb less heat / s kU kg ﬂ"m@_', Fifd 3 FH SoAT
STNT Bl F

12)

Question Stimulus :-

When current is passed through a conducting solution, bubbles of a gas are formed on the electrodes. This shows /

WE U U1 fAad § die Udified ST oidl 8, Fadeis IR 19 & gaqd §-9d o | A guifar g &
* The heating effect of electric current / ﬁ'g’,‘iﬁ UdTg PT diu+d YHId
¢ Magnetic effect of electric current / fdgad Udare &1 Je@ g yu1d
e Illuminating effect of electric current / ﬁg‘qa Ydrig dT u‘«ﬂuﬂ 'R IC)
e Chemical effect of electric current / ﬁ's’ﬁﬁl’ Udig a1 IS YHTE
Correct Answer :-Chemical effect of electric current / ﬁgua Udlg bl I YHEG
13)

Question Stimulus :-

When we stand in front of our dressing table combing our hair, our left hand appears to be on the right and right
appears to be on the left in the image. This phenomenon is known as / SId §H ?ﬁm T W A 91dl J HHt
P4 P T T2 810 &, ) ofd A gHRT 91T 814 318 R faaar & 3R S/l 81Y 91 R% | A Ufshar wgardl 8 -

Myopia / @ Efﬁ Gk

Lateral inversion / % uf¥ad=

Persistence of vision / Eftc Ady

e« Accommodation / THGH
Correct Answer :-Lateral inversion / W’ﬁqﬁﬁ?&r
14)

Question Stimulus :-



Major part of fat digestion is done with the help of / CAR:HUGIE: WTWW%T\‘ITW \_SI'I?IT%I
e Bile juice /0@
e Gastric juice / HRA
 Hydrochloric acid / gSSIFaIRG TRIS
e Pepsin / ufo=
Correct Answer :-Bile juice / U
15)

Question Stimulus :-

The best soil for growing plants is / aa?r Y el & fore Ty 3t ﬁl@ %
Clayey soil / H‘Wﬁl@

Loamy soil / gHe Al

Sandy soil / g fHg!

Silty soil / Tig] gt

Correct Answer :-Loamy soil / He fig!

16)
Question Stimulus :-

The red blood cells contain a red coloured pigment called / T SRR PR § ara
1 1 qofes urar SITdT € &Y Bedrdr @

Haemoglobin / gHRaAIfT
Anthocyanin / TYNEAS
Chlorophyll / TARI%A

Plasma / WIIGHT

Correct Answer :-Haemoglobin / gHRaIfeT
17)
Question Stimulus :-

One of the following waves do not require any medium for propagation. The wave is / Fafaf@awmma Uh Cal

TRU1 & forg fpt oft e &Y sawgpar Agi g1 A @
 Sound waves / af a&T
e Sea waves / JHg a0
e Seismic waves / Y&Ul =T

e Light waves / U= a1



Correct Answer :-Light waves / U= a3
18)
Question Stimulus :-

Under favourable conditions, Amoeba reproduces asexually by / 3P gRfRufoal & aga, s, C4|
JoIg ¥ SARIP g SRl gl

e Budding / P

e Spore formation / aﬁwﬁnfur

e Multiple fission / dg&sA

e Binary fission / fedft famues
Correct Answer :-Binary fission / fgaift fd@vs=
19)
Question Stimulus :-

Weeding is best done during the vegetative growth of weeds / YWRUdAR CAKCIERat GG Q'@ & ?R'FI' ﬁ?lg HIAT
| g X5l 7, oI -

Before flowering & seed formation / ¢ IR die fFafor q?ﬁ

After flowering & seed formation / Pl \’rﬁ? el ﬁTI'fUT * dig

During flowering & seed formation / &l 3R die Fafor & ?R'F‘I'

Before & after flowering & seed formation / P& \?vﬁ'\' EiS| ﬁTIfUTa? dig Gﬁ'\’ 3'\‘@' q?ﬁ
Correct Answer :-Before flowering & seed formation / el 3R die fFafor & tl?@f

20)
Question Stimulus :-

The amount of heat produced in a wire when current is passed depends on its / arR A

YRT YaIfed B39 W A~ SO B 7ET 59 W AR w5t @
e Length only / i 3HS! Tr18 W
e Thickness only / Rk Tt 'FﬁET;-f R
 Length and thickness only / Rith 39! g R Hiers R
e Length, nature of material and thickness / wﬁaﬁn‘i EIG | HﬂWﬁf a?mﬂa'é R

Correct Answer :-Length, nature of material and thickness / 3U®! TTs, YT B1 UPfa 3R

e W
21)

Question Stimulus :-



Stomata are tiny pores on the surface of leaves through which plants take in / el

g1 ¥4, ufxral @1 Gag W 99 aY o5 gid ¢ orad areay | Ui 9gur owd §
e Nitrogen / T-IB@TF[
« Carbon dioxide / FTd STF3HTRITTS
e Water / Sd
e Minerals / @t
Correct Answer :-Carbon dioxide / P EIEGITER‘IE'E
22)
Question Stimulus :-
The principle of working of a fuse is that it / Wl F B B BT Rrgia % fras
e Does not get heated / TRH qﬁﬁ?ﬂ
« Gets heated quickly and melts / 9§d Sl TRH & STaT 8 30 frge wirar @

e It never breaks the circuit in case of a fire / 3 aH @t AT A Ts"\‘IﬁTc’a'ﬁ Cati|
Tl drsdr

« Gets heated but does not melt / TRH gl STdT 8 W+ fUraear -5t 8
Correct Answer :-Gets heated quickly and melts / dgd \_rl?fﬂ R '&Pf SITdT % 3R g Srar %
23)
Question Stimulus :-
An apple falls down to the ground from a tree due to / U 94, Us § WY I iid W AR 2| ST T HFRUTE
 Muscular force / U= g
« Electrostatic force / fRR %gtrcr qc
« Magnetic force / ga®1q 9
e Gravitational force / mw
Correct Answer :-Gravitational force / m 9
24)

Question Stimulus :-

A product obtained from coal used as a starting material for manufacture of paints, explosives, plastics is/

%ﬁuﬁﬁmwmﬁmw&,ﬁwﬁzﬁ&ﬁvmé?ﬁﬁwﬁwmm%ﬁmmm
|
e Charcoal / IRBId

e Coke / ®IH



e Coal gas / CaRIc|

« Coal tar / AR®IA
Correct Answer :-Coal tar / dR®d
25)
Question Stimulus :-

Bawri is a traditional way of collecting / CIGE]

g
e Water / Sid
e Waste / 3Mufry
e Food / HIsH
o Excreta / Il
Correct Answer :-Water / od

Topic:- General Hindi
1))

Question Stimulus :-

_ gl ®X &1 TP URUNG aeidl

TP d UTHT & T W15 T Rl HTOT & U1 39 WR Y 95 oTal 8, 4 T Hedrd 82

. facsit oy

. TS

. AGHT U

. TS U
Correct Answer :-dgHd e
2)

Question Stimulus :-

e o @ g ad i fpaat @2

Correct Answer -1

3)



Question Stimulus :-

YYD BT ygTgar 8-

o dTHI
Correct Answer :-GITH-
4)
Question Stimulus :-
TG H U 5-

. St

Correct Answer :-3
5)
Question Stimulus :-
TEAIR M RR@E @ FTIeR )
. YIGdr"
. BHAA
« $gard
. TEH A PIE TE
Correct Answer :-@¢q ared
6)
Question Stimulus :-
= o @ g T fPaat 82
e Y
« PUIY
- ™



. T
Correct Answer :-Jo
7)
Question Stimulus :-
e fay g gt R -
o T-HH

Correct Answer :-‘EITH-ﬁ'EITFI'
8)

Question Stimulus :-

I eq A & YR R FAUPR F13

Correct Answer :-dcdH
9)
Question Stimulus :-
I I ST, 99 A TS | YR a1 W Ugad fohbarfa=ivor Suarey Jard 2
. Y qrae foparfazivor Iuarer
- Tt arae fsarfasiyor Iuaren
- A I frarfasaor et
R IS fparfazivor Suard
Correct Answer :-JHY IS fHAIIRIYTUT IuaTR
10)
Question Stimulus :-

¥ 2reg b1 +U dgaaT A A agaaT ¢ -



. O
Correct Answer :-ST¢l
11)
Question Stimulus :-
FHAH ST GaTax o1 34 &-

. feqma for

. Sgd DT fera=n

. forgd-forad v s

o QG S ™ A A
Correct Answer :-9gd 35T ferE=T
12)

Question Stimulus :-

TRTET A I AT HHTH 8 2

. FHYRY

Correct Answer :-ﬁ'ﬂ
13)

Question Stimulus :-

S HTUT 9 T b S ¢ TP g ST A8 2



Correct Answer :-3URHY
14)
Question Stimulus :-
© RG> Ve H T IUTA © -
o 3
o 3
o SIgR
3]
Correct Answer :-3[]
15)

Question Stimulus :-
“gg II9TR § T YT| 98 BRIHH | -1 3T JHT1” 7 &l I a1 & I TYad a1 B G-
« 9% IR ¥ §H & BRI HRIHH § 7 51 TBT
« % STSIR 41 YT AT SRIHH H 7 &1 G
. 9% IT9R 141 1w & 78
. 98 9I9IR § 771 fooeg SRIpH | 1 97 "1
Correct Answer :-98 ST9TR H 4T b HTAHH A 7 &1 AHT

16)

Question Stimulus :-
fFrafafea & 3 sgdift T Sl T e
o PHAAYA
DRICIGE]
o S~ uldl
. UG
Correct Answer ;-1

17)

Question Stimulus :-
Hear W U &-
o SUT



Correct Answer :-ﬁ'qT
18)

Question Stimulus :-

o AR & |/ S A1 Ted SEERUI§ 2
o 0+ wor = fArwTOT
o P wm =fAH
o [+ wa =
o T+ =M = foRT=
Correct Answer :-f=T:+ ITRIT = fA=T=IT
19)
Question Stimulus :-
I I B T
o URYY 3R AH AT HT G HIY
o URYH, THAAT BT 9K FaY 2
. TR 3R BT HTER TG §
. G I9Y URYH 3R Twedr $18
Correct Answer :-URHH 3R WGl BT IR FaY §
20)

Question Stimulus :-
Frefafead @ fgrana s ars?

o JYYTS

Correct Answer :-"dcd

21)



Question Stimulus :-

e o 9 g T fpaai @2

Correct Answer :-w
22)
Question Stimulus :-

AT A FE-"H IR Y TR A | GH ST UTS A=Y Te B AT | I8 a1 fb gt &Y wvaifera e 82
. U fagod
. S5l ferg A
. fARufaga
Correct Answer :-3G¥Ul g
23)
Question Stimulus :-
I W U B-
. =it
ot
o 3t
o dl
Correct Answer :-=l
24)

Question Stimulus :-
3{TSTRI UTATE BT 3faR’ YgTaR BT AeT 31 &2
« g 3P 3R g
. 9gd Hedd BT
« §gd BH R T



o §gd S M

Correct Answer :-Sg§d SIf® 3R BT

25)

Question Stimulus :-

3T & TS ST Gerav | =1 § F o w1 o agh 32
o Fif¥a grer i
. 9gd 9T faarRAT
o Y T I
o GaRTHIA AT

Correct Answer :-Sgd T faaR-T

Topic:- General Mathematics

1)
Question Stimulus :-

—11
If the product of zeros of a cubic polynomial with integer coefficients is “a

then the constant term is / 'ILF\U'[rlE ':'P]Eﬂ? iy Al v Hud ﬂ_E?a':ch{ &
et w7 auEne — ¥, o R ag ¥
e 3
e 3
e 11
e -11
Correct Answer :-11
2)
Question Stimulus :-

The probability of getting a prime or composite number from the first 15 natural numbers / Y4H 15 m?l?ﬁ?
HEIT3T ¥ T TS TG HIST |1 YT 61 B Uil 3:

11

15

14

15



14
15
Correct Answer :-

3)
Question Stimulus :-

The frequency distribution of wages (in Bs) of 50 workers in a factorvis given
below.

Wages - 220-250 | 250-280 | 280-310 [ 310-340 | 340-370
No.of 6 4 10 14 16
workers :

L

A worker is selected atrandom. Find the probability that his wages are more
than or equal to 250 but less than Rs 340 /

U HRETE # 50 ATHE B Folg $T faorer sdica A &1 TR 8
FoGY - | 220 - 250 | 250-280 | 280 -310 [ 310-340 | 340 -370
STEET 6 E! 10 14 16

&I Ho:

UF AfS & AEcod §9 T Ta-d [ ST &) 9iEEear A HY
T 30T 909 250 T90 T AT9% A7 a1 &, ol 340 $99 T &H

&l

Correct Answer :-
4)
Question Stimulus :-

In parallelogram ABCD, the bisector of ZA meets BC at X. If ZAXB =40 , then D=/ b JHIdA ilﬂ‘l:lﬁ
ABCD ¥, £A &1 fgHTeI® BC ¥ X WR firerar 81 afe 2aXB =40%, @t 2D=

e 100°



o 140"

e 120"

o 80°
Correct Answer :-100°
)

Question Stimulus :-

Iffi-%}=amd}:y=%=ﬂleni+ vi:intemls of aand b'is / AR (%—%]

=aWxy== § Ik 9T F IR =+ &

o a’+4p?

o a%+6b?

Correct Answer :-a2 + 4b?
6)
Question Stimulus :-

The weights (in gms) of 10 oranges are given below.

162, 156, 190, 185, 155, 162, 168, 180, 195, 159. If the number of class intervals obtained to form a grouped
distribution of the above is 8, then the class size is /

10 HaR) T 9o (A A) TR f*ar man @:

162, 156, 190, 185, 155, 162, 168, 180, 195, 159 | S IURIGd P TP I faaRor g4 § WIed a¥ SrRTadl Bl
TET § B, 99 T P PR 8:

e 6

e 8

e 4

e 5
Correct Answer :-5
7)

Question Stimulus :-



If the point P(x, y) is equidistant from points A(3, 2) and B(-2, 3) , then y in terms of x =/ uﬁ ﬁ—g P(x,Yy), ﬁg
AG,2)TEB(-2,3) AU E, ATx P UGI A y =

e X
e 3x
e 2x
e S5x
Correct Answer :-5x
8)
Question Stimulus :-
28th term of A.P given by 11,15,19,23........... is/ 11,15,19,23........... ERT {38 ¢ HiR 3RISUI &1 28471 UG 3:
e 105
e 119
e 113
e 125
Correct Answer :-119
9)
Question Stimulus :-

There are 15 marbles, out of which 3 are white and the rest are red. If 'x' more white marbles are added the
probability of drawing a white marble will be double than that when it was 3. Then the value of 'x' is / P 15

TTda €, o A 3 9t Ud 2w ara 71 afe < Tbe urdd 3t iR e e ot ue e Ared & oA
@1 WTiar, 919 3 3 <ft, ITF T 8 S | 8d: «x FITAF G

o 7

e 8

e 5

e 4
Correct Answer :-5
10)

Question Stimulus :-

A boy of height 1.2 m is walking away from the base of a lamp post at a speed of 0.8 m/sec. Find the height of the
lamp post from the ground, if the shadow of the boy is 2.4 m after walking for 6 sec. / Y TSDHI foraet ?IWT% 1.2
ez 8, To A7 URe & SMUR ¥ 0.8 Hey A o1 7fd | g1 1 w121 A TP F1 WOTS, 6 Abs T4 &
TG 2.4 HieT ¢ ol 99 ¥ A7 URE B Ha1E 31d B

e 3.6m/3.6 /IR



o 48m/48H

e 3m/3Hw

e 42m/42HR
Correct Answer :-3.6 m / 3.6 HIe¥
11)

Question Stimulus :-

If +/3=1.732, then the value .::f”"E'_E"'E up to 3 decimal places, is / I E 43
7
|6_.\'2

=1732, dd > = & Al c2Fed & 3 TAMAD dd BT ¢

-

e 0.423

e 0.491

e 1.128

e (.624
Correct Answer :-0.423
12)
Question Stimulus :-

If the mean of 8 observationsx, x+2, x+4, x+6, x+8, x+10, x+ 12, x + 14 is 15, then the mean of last 3
observations is / af¢ S U&UN x, x+2, x+4, x+6, x +8, x+10, x+12, x + 14 BTHA 15 g1 ¥ NI 3
Wefoll ST H1ed §:

20

e 18

o 22

e 19
Correct Answer :-20
13)
Question Stimulus :-

It is given that ZAOP = 2x + 4 and AO is produced to B. A ray OQ bisects ZPOB and if ZPOQ = 3x, then 2POB =
/ feaT AT & fF ZAOP = 2x + 4 § 3R A0, B &I FTdl 81 TP BT 0Q, ~POB B! Ufadfed Hedl @ Td Ul
£POQ = 3x, dd LPOB =

o 132°

e 120°

° 66



o 48
Correct Answer :-132°
14)
Question Stimulus :-

ABC is a triangle, right angled at C. If BC =a, AB = c and ‘p’ is the length of the perpendicular from
C to AB. If AC =2 BC then ‘¢’ in terms of ‘a’ and ‘p’ = / ABC, C wwwmﬁwﬁuﬁél !T%
BC =2, AB = ¢ 3¥ ‘p’, C ¥ AB T% & Ga=U & TS 31 e AC =2 BC @ ‘a’ 3R p’ & AR

‘C’%=

[ =]

4p

-
=

2a

Correct Answer :-
15)

Question Stimulus :-

X, Y and Z start at the same time to run around a circular path in the same direction. To complete one round they
take 18 min, 24 min and 36 min respectively. How many rounds would have ‘X’ completed, when they all meet

again at the starting point? / X, Y 3R ZWW@?Wﬁ,WWUﬂ%WﬁGﬁ%mW
I A ¢ | Th TTH PRI B & o1 38 pAR: 18 fAe, 24 e 3R 36 firre ovra €1 <x° A fvam Taw
R X ford g1, o9 @ ARy fig IR e faed?

° 6

e 9

e 4

e 11
Correct Answer :-4
16)

Question Stimulus :-



The radius and the slant height of a cone are in the ratio 3 : 53_[fits curved surface area is 240w cm? | then
its slant height is / Teh 27eh o1 Foar va fATeT 3a1s &1 37e/91d 3 - 5 81 IS 56T doh YSIT aiahel
2407 FERE. arsEh S FEs o

12em/ 12 9H
16cm / 16 GHT
20cm / 20 GHT
18cm / 18 THT

Correct Answer :-20cm / 20 9H}

17)
Question Stimulus :-
Two angles of a triangle are equal and the third angle is 30’ less than each of the equal angles. The smaller
angle is / T FIYS & Gt BT MU H SRTER € TH dIART S0, I g1 aRTaR SN J 30° HH g1 Bier
U 3:
. 70°
o 40°
o 30°
. 60°
Correct Answer :-40°
18)
Question Stimulus :-

The Perimeter of a triangular surface is 144 cm and the sides are in the ratio 3 : 4 : 5. The cost of
painting the surface at the rate of Rs. 5/cm?, is / TP [ECalip] U8 bl URHTT 144 T % Td m
YSAT3H} BT FUTA 3 : 4: 581 53U Ui TN St FHa A P H IR P A 2

e Rs. 4200 /%. 4200

* Rs. 4320/%. 4320

* Rs. 3980 /%. 3980

* Rs. 3850 /%. 3850
Correct Answer :-Rs. 4320/ %. 4320
19)

Question Stimulus :-



Find the area of cardboard wasted, if a sector of maximum possible size is cut out from a square cardboard of

side 28cm. / Tfe 28 A fFR 1A T PR Breals A AfUBdH GHT ATHPR BT UGS H1eT S,
@ g g el PIS IS BT AT A JTd DY

e 168cm?/ 168 A2
e 150cm? / 150 Q2
e 176cm?/ 176 THY2
e 192cm?/ 192 YH}2

Correct Answer :-168cm?/ 168 ﬁ'ﬁﬂz
20)

Question Stimulus :-

The mean weight of 50 students of grade IX is 46 kg. If the mean weight of 20 students of that class is 43 kg, then
the mean weight of the remaining students of that class is / PE&T IX & 50 DI BT HTH IO 46 fHIT %I afe 39
FET & 20 B BT AT qoi 43 fHIT R, 310: IH B&T & AV ST HT AW I9H &:

e 48

e 46

e 49

e 45
Correct Answer :-48
21)

Question Stimulus :-

Solve the following system of equations 2x =v - 3 and%}_ =2/

ferafef@a wefmRer AER &1 6 &Y 1 2x=y-30d——=2

i
Xy =2
. 2
3 1
A==
[ ]
1
XE=-—-_¥v=2



X =m .
Correct Answer :-

B2 |
i
Il
S}

22)

Question Stimulus :-

Express 9.6 in fhefmm% | 9.6 E & & 7 oI B

Correct Answer :-
23)

Question Stimulus :-

Students of a class are made to stand in rows. If 7 students are extra in each row, there would be 2 rows less and if 2
students are less in each row, there would be 1 more row. Then the number of students in the class is / T DET &

faenfal »1 il # wsT fran omar 71 afe wdw ufckal # 7 sifaRvaa faemd &1, o 2 dfdaal o= g aur
afe yde ufet # 2 faemlf &w 91, a1 1 ufd aiftres g7t sra: S0 wan # faenfial ot wen 6 -

e 96

e 84

e 72

e 08
Correct Answer :-84
24)
Question Stimulus :-

A single cube is formed by melting 3 cubes of edges 3cm, 4cm and Scm.The surface area of the top and bottom of

the new cube formed is/wa'rraﬁ,3%,4%@5ﬁ%ﬁﬂﬁaﬁsa=ﬁﬁﬁuwmw%| T
T ¢ 99 & U4 Td fHad g8 &1 &wd &:

e 95cm?/ 95 qHI2



o 81 cm? 81 A2
o 72 cm¥ 72 A2

o 64cm? 64 THI2

Correct Answer :-72 cm?/ 72 ﬁ'lﬂz
25)

Question Stimulus :-

-k
In a Rt triangle ABC. 1t angled atB=IfcnsC=a+b _then anC = /| GHHBIOT
a

8T ABC #, ST B O §HBI &, TG cosC =

b
b=HTtE.ﬂC=

i
at

Correct Answer :-

Topic:- General English
1))

Question Stimulus :-

Choose the most suitable determiner for the given sentence:

Helikes  dance forms.
e every
e each
e all

e alot



Correct Answer :-all
2)
Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

When the limestone just below the ground surface dissolves, the lands collapses and form ponds.
e When the limestone
e just below the ground surface dissolves,
e the lands collapses
e and form ponds.
Correct Answer :-the lands collapses
3)
Question Stimulus :-

Choose the option that best punctuates the given sentence:

In 1986 SEIKO invented Kinetic the worlds first watch to generate and save its own electricity
e In 1986 SEIKO invented Kinetic, the world’s first watch to generate and save, it’s own electricity.
e In 1986, SEIKO invented Kinetic, the world’s first watch to generate and save, its own electricity.
e In 1986, SEIKO invented Kinetic, the worlds first watch to generate, and save, it’s own electricity.
e In 1986, SEIKO invented Kinetic, the worlds’ first watch to generate, and save, its own electricity.

Correct Answer :-In 1986, SEIKO invented Kinetic, the world’s first watch to generate and save, its own
electricity.

4)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

No, it wasn't hot, , it was quite chilly.
e on the contrary
e nevertheless
®* moreover

e besides



Correct Answer :-on the contrary
5)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

It's a long time I saw a decent comedy film.
e that
® ago
e since
e when
Correct Answer :-since
6)
Question Stimulus :-

Choose the correct form of verb that is in agreement with the subject:

The children’s books on the table.
® is
® are
e has been
e was been
Correct Answer :-are
7)
Question Stimulus :-

Complete the sentence choosing the right form of Prefix:

If we leave our doors____ locked, our houses are liable to be burgled.
¢ un
e in
e dis

¢ non



Correct Answer :-un
8)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

Fire fighters were trying to lift the wreckage an express bus that had overturned
highway.

e of, on

e at, in

e in, across

e under, in
Correct Answer :-of, on
9)
Question Stimulus :-

Choose the option that best transforms the sentence into its other voice:

We have already printed the new catalogue.
e The new catalogue will be printed already.
e The new catalogue is printed tomorrow.
e The new catalogue has already been printed.
e The printing of the new catalogue have been already done by us.
Correct Answer :-The new catalogue has already been printed.
10)
Question Stimulus :-

Choose the option that best transforms the given sentence without changing its meaning:

The fact that he is silent proves his guilt.
e The fact that he is silent is proving his guilt.
e He is silent and that is approval of his guiltiness.
e His silence proves his guilt.

e He being silence proves his guilt.

the main



Correct Answer :-His silence proves his guilt.
11)

Question Stimulus :-

Choose the option that best transforms the given sentence without changing its meaning:

He was dismissed from his work because he was careless.
e He was careless but he was dismissed from his work.
e As he was less careful, his dismissal was uncertain.
e Being careless, he dismissed himself from his work.
e Being careless, he was dismissed from his work.
Correct Answer :-Being careless, he was dismissed from his work.
12)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

I want you to reach the venue  the Chief Guest arrives.
e and
e since
e before
o till
Correct Answer :-before
13)
Question Stimulus :-

Choose the option that best punctuates the given sentence:

Patience acceptance passion these words define Dr Ashok Seths life
e Patience: acceptance: passion: these words define Dr Ashok Seth’s life.
e Patience, acceptance, passion; these words define Dr. Ashok Seths life.
e Patience, acceptance, passion; these word’s define Dr. Ashok Seth’s life.
e Patience. Acceptance. Passion. These words define Dr. Ashok Seth’s life.

Correct Answer :-Patience. Acceptance. Passion. These words define Dr. Ashok Seth’s life.



14)
Question Stimulus :-

Choose the option that best transforms the sentence into its other voice:

An application for an extension was made.
e An application for an extension was made by us.
e We applied for an extension.
e We made an application for an extension.
e We have made an application for extension.
Correct Answer :-We applied for an extension.
15)
Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:

‘Start at twelve,” he said to her, ‘come back at five’.

e He said her to start at twelve and you come back at five.

e He has been telling her to start at twelve and come back at five.

e He told her to start at twelve and come back at five.

e Starting at twelve and coming back at five was told by him to her.
Correct Answer :-He told her to start at twelve and come back at five.
16)

Question Stimulus :-

Choose the option that best fills in to complete the given sentence::

All the news on television bad.
® is
e are
® were
e have

Correct Answer :-is

17)



Question Stimulus :-

Choose the option that best fills in to complete the given sentence::

You better alone.

e don't go

* togo

* not to go

* not go
Correct Answer :-not go
18)
Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:

Such acts of aggression should not be tolerated by the community!
e The leader has declared that such acts of aggression should not be tolerated by the community.
e The leader declared that such acts of aggression should not be tolerated by the community.
e The leader has been declared that such acts of aggression should not be tolerated by the community.
e The leader declared that such acts of aggression shall not be tolerated by the community.
Correct Answer :-The leader declared that such acts of aggression should not be tolerated by the community.
19)
Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

The boss wants us all Preeth, Sumit, you and I to take up the project.
e The boss wants us all
e Preeth, Sumit, you and I
e To take up the project.
e No error
Correct Answer :-The boss wants us all
20)

Question Stimulus :-



Choose the option that is closest in meaning to the highlighted word in the given sentence:

Don’t try to cheat me by concocting a cock and bull story.
e imagining
e telling
e inventing
e owning
Correct Answer :-inventing

Topic:- RC_General English
1)

Question Stimulus :-

Read the paragraph and answer the following question

Comfort is now one of the causes of its own spread. It has now become a physical habit, a fashion, an
ideal to be pursued for its own sake. The more comfort is brought into the world, the more it is likely
to be valued. To those who have known comfort, discomfort is a real torture. The fashion which now
decrees the worship of comfort is quite as imperious as any other fashion. Moreover, enormous
material interests are bound up with the supply of the means of comfort. The manufacturers of
furniture, of heating apparatus, of plumbing fixtures cannot afford to let the love of comfort die. In
modern advertisements they have found a means for compelling it to live and grow.

A man of means today, who builds a house, is in general concerned primarily with the comfort of his
future residence. He will spend a great deal of money on bathrooms, heating apparatus, padded
furnishings, and having spent on these will regard his house as perfect. His counterpart in an earlier
age would have been primarily concerned with the impressiveness and magnificence of his dwelling-
with beauty, in a world, rather than comfort. The money our contemporary would spend on baths and
central heatings would have been spent on marble staircases, frescoes, pictures, and statues. I am
inclined to think that our present passion for comfort is a little exaggerated. Though I personally enjoy
comfort, I have lived most happily in houses devoid of everything that Anglo-Saxons deem
indispensable. Orientals and even South Europeans who know not comfort and live very much as our
ancestor did centuries ago, seem to get on very well without elaborate apparatus and padded luxuries.
However, comfort for me as a justification; it facilitates mental life. Discomforts handicaps thought; it
is difficult to use the mind when the body is cold and aching.

What is the author’s prediction about comfort?
e The value of comfort will increase.
e People will value more spirituality thus reducing the value of comfort.
e People will desire a simpler life style.
e The advertisements will play down the comfort aspect of goods.

Correct Answer :-The value of comfort will increase.



2)
Question Stimulus :-

Read the paragraph and answer the following question

Comfort is now one of the causes of its own spread. It has now become a physical habit, a fashion, an
ideal to be pursued for its own sake. The more comfort is brought into the world, the more it is likely
to be valued. To those who have known comfort, discomfort is a real torture. The fashion which now
decrees the worship of comfort is quite as imperious as any other fashion. Moreover, enormous
material interests are bound up with the supply of the means of comfort. The manufacturers of
furniture, of heating apparatus, of plumbing fixtures cannot afford to let the love of comfort die. In
modern advertisements they have found a means for compelling it to live and grow.

A man of means today, who builds a house, is in general concerned primarily with the comfort of his
future residence. He will spend a great deal of money on bathrooms, heating apparatus, padded
furnishings, and having spent on these will regard his house as perfect. His counterpart in an earlier
age would have been primarily concerned with the impressiveness and magnificence of his dwelling-
with beauty, in a world, rather than comfort. The money our contemporary would spend on baths and
central heatings would have been spent on marble staircases, frescoes, pictures, and statues. I am
inclined to think that our present passion for comfort is a little exaggerated. Though I personally enjoy
comfort, I have lived most happily in houses devoid of everything that Anglo-Saxons deem
indispensable. Orientals and even South Europeans who know not comfort and live very much as our
ancestor did centuries ago, seem to get on very well without elaborate apparatus and padded luxuries.
However, comfort for me as a justification; it facilitates mental life. Discomforts handicaps thought; it
is difficult to use the mind when the body is cold and aching.

How have people managed to keep the love of comfort alive?
e By pumping in more comfort goods in the market.
e By sacrificing high profits on comfort goods.
e By targeting youths in the sales campaign.
e By appealing to the emotionality of people.
Correct Answer :-By pumping in more comfort goods in the market.
3)
Question Stimulus :-

Read the paragraph and answer the following question

Comfort is now one of the causes of its own spread. It has now become a physical habit, a fashion, an
ideal to be pursued for its own sake. The more comfort is brought into the world, the more it is likely
to be valued. To those who have known comfort, discomfort is a real torture. The fashion which now
decrees the worship of comfort is quite as imperious as any other fashion. Moreover, enormous
material interests are bound up with the supply of the means of comfort. The manufacturers of
furniture, of heating apparatus, of plumbing fixtures cannot afford to let the love of comfort die. In
modern advertisements they have found a means for compelling it to live and grow.



A man of means today, who builds a house, is in general concerned primarily with the comfort of his
future residence. He will spend a great deal of money on bathrooms, heating apparatus, padded
furnishings, and having spent on these will regard his house as perfect. His counterpart in an earlier
age would have been primarily concerned with the impressiveness and magnificence of his dwelling-
with beauty, in a world, rather than comfort. The money our contemporary would spend on baths and
central heatings would have been spent on marble staircases, frescoes, pictures, and statues. I am
inclined to think that our present passion for comfort is a little exaggerated. Though I personally enjoy
comfort, I have lived most happily in houses devoid of everything that Anglo-Saxons deem
indispensable. Orientals and even South Europeans who know not comfort and live very much as our
ancestor did centuries ago, seem to get on very well without elaborate apparatus and padded luxuries.
However, comfort for me as a justification; it facilitates mental life. Discomforts handicaps thought; it
is difficult to use the mind when the body is cold and aching.

What was the characteristic of affluent man of an earlier age?
e He use to put higher premium on comfort.
e He was relying much on advertisements.
e He believed more in simple and cheaper things.
e His emphasis was on beauty.
Correct Answer :-His emphasis was on beauty.
4)
Question Stimulus :-

Read the paragraph and answer the following question

Comfort is now one of the causes of its own spread. It has now become a physical habit, a fashion, an
ideal to be pursued for its own sake. The more comfort is brought into the world, the more it is likely
to be valued. To those who have known comfort, discomfort is a real torture. The fashion which now
decrees the worship of comfort is quite as imperious as any other fashion. Moreover, enormous
material interests are bound up with the supply of the means of comfort. The manufacturers of
furniture, of heating apparatus, of plumbing fixtures cannot afford to let the love of comfort die. In
modern advertisements they have found a means for compelling it to live and grow.

A man of means today, who builds a house, is in general concerned primarily with the comfort of his
future residence. He will spend a great deal of money on bathrooms, heating apparatus, padded
furnishings, and having spent on these will regard his house as perfect. His counterpart in an earlier
age would have been primarily concerned with the impressiveness and magnificence of his dwelling-
with beauty, in a world, rather than comfort. The money our contemporary would spend on baths and
central heatings would have been spent on marble staircases, frescoes, pictures, and statues. I am
inclined to think that our present passion for comfort is a little exaggerated. Though I personally enjoy
comfort, I have lived most happily in houses devoid of everything that Anglo-Saxons deem
indispensable. Orientals and even South Europeans who know not comfort and live very much as our
ancestor did centuries ago, seem to get on very well without elaborate apparatus and padded luxuries.
However, comfort for me as a justification; it facilitates mental life. Discomforts handicaps thought; it
is difficult to use the mind when the body is cold and aching.

Choose the word that is similar in meaning to the word ‘devoid of” as used in the passage.



e Available.

e Lacking.

e Empty.

e False.
Correct Answer :-Lacking.
)
Question Stimulus :-

Read the paragraph and answer the following question

Comfort is now one of the causes of its own spread. It has now become a physical habit, a fashion, an
ideal to be pursued for its own sake. The more comfort is brought into the world, the more it is likely
to be valued. To those who have known comfort, discomfort is a real torture. The fashion which now
decrees the worship of comfort is quite as imperious as any other fashion. Moreover, enormous
material interests are bound up with the supply of the means of comfort. The manufacturers of
furniture, of heating apparatus, of plumbing fixtures cannot afford to let the love of comfort die. In
modern advertisements they have found a means for compelling it to live and grow.

A man of means today, who builds a house, is in general concerned primarily with the comfort of his
future residence. He will spend a great deal of money on bathrooms, heating apparatus, padded
furnishings, and having spent on these will regard his house as perfect. His counterpart in an earlier
age would have been primarily concerned with the impressiveness and magnificence of his dwelling-
with beauty, in a world, rather than comfort. The money our contemporary would spend on baths and
central heatings would have been spent on marble staircases, frescoes, pictures, and statues. I am
inclined to think that our present passion for comfort is a little exaggerated. Though I personally enjoy
comfort, I have lived most happily in houses devoid of everything that Anglo-Saxons deem
indispensable. Orientals and even South Europeans who know not comfort and live very much as our
ancestor did centuries ago, seem to get on very well without elaborate apparatus and padded luxuries.
However, comfort for me as a justification; it facilitates mental life. Discomforts handicaps thought; it
is difficult to use the mind when the body is cold and aching.

What change, according to the author, has taken place in the attitude to comfort?
e [Itis taken for granted in the modern way of living.
e It has become now an ideal to be pursued for its own sake.
e It is now believed that discomfort handicaps thought.
e It is thought that comfort helps body and mind to function effectively.

Correct Answer :-It has become now an ideal to be pursued for its own sake.

Topic:- General Knowledge

1)
Question Stimulus :-

During the Bhopal industrial disaster, people were exposed to ./ U

3MTUST & SR, AN & TUdh H Q|




Methyl isocyanate / ﬁrms?r W

Methyl salicylate / IS m

Methyl cyanide / fHUTS® ATSATSS

Methyl bromide / ﬁ["’-ﬂgﬁ m

Correct Answer :-Methyl isocyanate / ﬁr%nga GlT?[H)I'\‘I'I%ﬁE'

2)

Question Stimulus :-

Which of the following Indian movies has been selected for the Oscar Awards in 2017? / a3 fog

YR gdt o1 2017 & SiTep? P fore g1 T 82
Sultan / JexTq
Baahubali / STgacl

Visaranai / mﬂ'ltlg
Kabali / STl

Correct Answer :-Visaranai / ﬁﬂ'ﬂ'l_'-lg

3)
Question Stimulus :-

Where is the headquarters of Sahitya Akademi located in India? / HIRd T AT SrpreH! &1 HSTeYg el
R 32

Pune / E'U-T

Bangalore / UK
Hydrabad / 8SRTaTE
New Delhi / T8 feeeit

Correct Answer :-New Delhi / =I§ ﬁﬁ‘ﬁ

4)
Question Stimulus :-

is the largest state in India by area. / ard & SR HIRd I GEE 98T
T Bl

¢ Rajasthan / ITSTRITH
e Madhya Pradesh / AT W

e Uttar Pradesh / 3xI¥ m



e Maharashtra / 'FIB'RTE

Correct Answer :-Rajasthan / XTSIRITH
S)

Question Stimulus :-

Pandit Ravi Shankar was a famous player. / Uf&a Aaide TP RIS qed Y1

o Santoor / AP
e Tabla / dddl

e Sitar / RIAR

. Shehnai/?l?q'lg
Correct Answer :-Sitar / RIa®
6)

Question Stimulus :-

river runs parallel to Narmada. / T-IT:ﬁ, T-I'ﬁET & FHIAR EIE?ﬁ %I

Chambal / Idd
Tapti / AT
Yamuna / YT
Betwa / Sadl

Correct Answer :-Tapti / T

7)
Question Stimulus :-

The headquarters of Indian Institute of Tourism and Travel management is based in

e U9 T ye Y SR o @ 81
e Lucknow / TS
e Kolkata / IeIhTdl
e Delhi/ feweh
e Gwalior / T@TfeTAR
Correct Answer :-Gwalior / TaTTeTaR
8)

Question Stimulus :-

./ HIRda



Nimar Utsav is rejoiced on the banks of river. /ﬁﬂ:l'lg Id BT 3G B FACWR
foran e 21

¢ Chambal / I4dd

. Tapti/?‘lTEﬁ

e Mahanadi / HgTHG

° Narmada/qﬁET
Correct Answer :-Narmada / THgT
9)
Question Stimulus :-

Gujari Mahal in Gwalior fort was built by ./ TaTfaER fea | 'ﬂ\_rlﬂ Hed gIRT d-1d1dT AT
Yri

e Anangapala / 3FUTdA

e Raja Man Singh Tomar / XTSIT HTH LGRS

e Prithviraj Chauhan / QAIRTS D@

o Jayapala / STQUTel
Correct Answer :-Raja Man Singh Tomar / TSIT HTH RigdmR
10)
Question Stimulus :-

, a poet, writer, journalist, was awarded the first Sahitya Akademi Award in Hindi for his work “Him

Tarangini”. / Bfd, WGP U AR &1 f&dt ° I9& +rd feg S & forg, uga warfew
PTG RIBR & G fovam mar|

e Harivansh Rai Bachchan / Eﬁ?ﬂm CECE)
Munshi Premchand / HQﬂ' P
Suryakant Tripathi Nirala / Hfhﬂ_d Prardt forTen

Pandit Makhanlal Chaturvedi / Uf&d HRATATA Tdddt

Correct Answer :-Pandit Makhanlal Chaturvedi / Gf&d qrRa-arel ﬂﬂﬁ?ﬂ
11)
Question Stimulus :-

Two major rivers of Uttar Pradesh, The Ganges and Yamuna join at ./ SR USRI &1 Q1 ded q‘ﬁ'{ﬁ"
T UE gyl # fadt 21

e Allahabad / SATgldIq
e Gorakhpur / Tﬁw



e Kanpur / ®TAYR

e Varanasi / GRTORT
Correct Answer :-Allahabad / SCIleldlqg
12)
Question Stimulus :-
_______ National park is the oldest national park in India. / Tl'@'q I URA &1 Jad YRTAT ?T@'q
ST 3|

e Jim Corbett / f5TH ®Tde

e Bannerghatta / aﬁ?ﬂy

e Bison / dTIA

e Gangotri / T
Correct Answer :-Jim Corbett / ST ®ide
13)
Question Stimulus :-

Who among the following has been appointed as the new President of the Boxing Federation of India (BFI)? /

e 7 9 frd sifRaT b= 8ifw $fEar (Brn &1 -1am sremet fRrge far mar 82
e Bharat Sharma / HIRd YH{
e Ajay Singh / 3o Rig
e Mridul Bhadauria / §gd yeear
e Rohit Jainendra Jain / iﬁ%ﬂ aﬁ? a""f
Correct Answer :-Ajay Singh / 3o Rig
14)
Question Stimulus :-

Rashtriya Ekta Diwas is celebrated on which day? / ?‘I‘Q’I’q Uhdl feaw fora fafy & w=am
T 82

e October 1% /1 3@geR
e October 215! /21 3fageR
e October 315t /31 3fageR
e December 15t /1 W

Correct Answer :-October 215 /21 3[dga¥



15)
Question Stimulus :-

On Supreme Court ordered that all the cinema halls in India shall play the national anthem before

the start of feature films. / aﬁgﬁhaﬁéﬁ&mﬁm%%m%wlﬁﬁﬁmﬁﬁw
firenl @t Y aITd | Uge AT M =TT STE |

30" November 2016 / 30 Fa¥R 2016

30™ October 2016 / 30 AFEAR 2016

15t December 2016 / 15 f&THR 2016

15" November 2016 / 15 TG 2016

Correct Answer :-30™" November 2016 / 30 FTaHIT 2016
16)
Question Stimulus :-

is the headquarters of West Central Zone of Indian Railways. / YR ¥ad & ufie

A & BT By g
J Bhopal/“-ﬁ'ql?l'

e Sagar / AR

e Jabalpur / STdCTYR
e Rewa/ddar
Correct Answer :-Jabalpur / STd¢IYR
17)
Question Stimulus :-
There are __ districts in Madhya Pradesh. / AU o - o %'I
e 51
e 42
* 66
e 59
Correct Answer :-51
18)
Question Stimulus :-

One of the richest temples in the world located in Andhra Pradesh is temple. / fay & g ek

HTRT # & U, 3riy v H fRya HfeR g1



Tirumala (Tirupati) / IGEL I (ﬁlTCIﬁ)
Simhachalam / ﬁl?'l'_d?l'q

Annavaram / 3(ATdYH
e Srisailam / m
Correct Answer :-Tirumala (Tirupati) / foeaar (fasufa)

19)

Question Stimulus :-

is a Bengali author known for her feminist views who has been living in exile. / T STent

AEDT & N 3ot AtaTd faaRurT & forg it st & s &t it forate= # v &6t 6
e Arundathi Roy / SB[ I
e Kiran Desai / ﬁT\"UT %‘H‘I‘é
e Shobhaa De /RNHTS
e Taslima Nasreen / ATCHT AR
Correct Answer :-Taslima Nasreen / ST HT AR
20)
Question Stimulus :-
Which is world’s highest waterfall? / f3% T @ 98T ST@9uTd S IT 82
e Yosemite Falls / uﬁw\‘mm
e Nohkalikai Falls / TTg®TAPTS STAqUTd
o Angel Falls / GoTd STaaTd
e Wallaman Falls / aTOHT STT9qTd
Correct Answer :-Angel Falls / TSI STTqUTd
21)
Question Stimulus :-
Who was the first lady Governor of Independent India? / ¥ddd HIRd $ wyw wigar Isgura i A2

Mother Theresa / HGR T

Sarojini Naidu / LHISEI argg
Annie Besant / Q""ﬁ e
None of these / s-—lﬁ I aﬁ% Hﬁ



Correct Answer :-Sarojini Naidu / TR arlag
22)

Question Stimulus :-

Which of these national parks is not in Madhya Pradesh? / frafafe ?T@'q IUE # T I T 7y |
T8 32

e Bandhavgarh National Park / STHdTg Tl'@'q ST

e Sanjay National Park / IoTd Tl'g:rq 3T

e Madhav National Park / HTt[d ?Tg’q 3elT+

e Nagzira National Park / ARTSIRT ?Tg]'q el
Correct Answer :-Nagzira National Park / ANTSIRT ?T@Tl ROIG]
23)

Question Stimulus :-

is known as the father of Indian cinema. / P R AT & fUar & & u d s
a3
« Dadasaheb Phalke / GTGIITed BTed
e Satyajit Ray / L EICES
e Raj Kapoor / ISl dYR
e Gulzar / JeIVIIR
Correct Answer :-Dadasaheb Phalke / GTGTITed WIeh
24)
Question Stimulus :-
is called Paris of Nimar. / 3| ﬁTI'I?:' Ca) ﬂﬁﬂ CXARSIGLH % [
e Bhopal / HTUTd
e Barwani / ST
e Burhanpur / R8IMYR
e Bhind / f3S
Correct Answer :-Barwani / SXQT-1
25)

Question Stimulus :-

Name of airport in Indore is ./ ET:a'\" A Ea'lgélg Bl ATH %I



Raja Bhoj International Airport / XTSIT yier Gﬁ?f@'q EH'I_QFGE:{:T

Rajmata Vijaya Raje Scindia Air Terminal / XTSTHTdT fororar 3o Rifern g HUEK]
Devi Ahilyabai Holkar Airport / 38t SIfgeTaTs gieh: gars 3rgl

Dumna Airport / GHAT gas S KL

Correct Answer :-Devi Ahilyabai Holkar Airport / a1 SfETaTS Siewh gaTsg SIS0

Topic:- General Computer Knowledge

1))

Question Stimulus :-

In MS PowerPoint (ver. 2007 onwards) what is the Presenter View? / MS Excel (av&r 2007 YT W’\ﬁ'

3T ara) ﬁ, Presenter View T Eﬁ?ﬂ %?

o Itis a view that helps the presenter rearrange the slides to his or her liking / g dg a{'&ﬂ?ﬂ % Tl

Tiex 1 U TR P W35 YHouaRAd H- H eI g1 @

o Itis a view of the presentation as a slide show that fits within the window / Ug ¥IIgS WMWFH Y

H yoiexq #1g ¢ o fast & Wiar fbe glar @
o Itis a preview of the presentation / g uﬁ%&'ﬁ DT fﬁﬂ'&ﬁ?ﬂ %

e Itis a view of the presentation with speaker notes on one computer while the audience views the
notes-free presentation on a different monitor / g Yd HHRYCY UX L3V ong T'ﬁ'(.{'\q H’%ﬁ Uﬁ%ﬂq
15 3, Tald TSHH oY AlfTex R AIcH 1 TeexH d@d §

Correct Answer :-It is a view of the presentation with speaker notes on one computer while the
audience views the notes-free presentation on a different monitor / 9g Yd R IiHT :ﬁw

Afed USie e &1 o 8, wiafp ifEd g Aifrer W Hicy W usiew d@d &
2)
Question Stimulus :-

What is the command used in MS-DOS, Unix command line interfaces to get the system date? / dg

DI T PUIS ¢ ol R S B U H & T MS-DOS, I FHIS A5 SeIbae A
T BT 82

e GETSYSDATE

e GETDATE

e DATE

e GETSYSDATETIME
Correct Answer :-DATE
3)

Question Stimulus :-



In HTMLS, what is the tag that should be used to play a YouTube video? / HTMLS5 dg P T T

sﬁm%ﬁlﬂmmwwubeﬂ%ﬁtéaﬂﬁ%m%mmm%@

e <iframe></iframe>

e <video></video>

e <obj></obj>

o <url></url>
Correct Answer :-<iframe></iframe>
4)
Question Stimulus :-

In a Structure Query Language (SQL) of a database management system (DMS), which of the
following commands is not a Data Definition Language (DDL)? / SICI Adede RieH (DMS) &

TWFR R} A6 (SQL) H, FreT A @ S ) FHTS STer ez a7 (DpL) T8 @2
e CREATE
e ALTER
e DROP
e SELECT
Correct Answer :-SELECT
S)
Question Stimulus :-

In word processing, what is a hanging indent? / CERIRIRD ﬁ, %ﬁl"T 3’3’? T m %?
e The alignment of the paragraph to the left or right. / IRTITE &1 qI¢ g1 91¢ Q?I'IE_"I'J?IE'
e The spacing between the margin and content. / ARSI YT he=e & U BT SiavTd
¢ The indent to the first line in a paragraph. / WFTE $i gl GIEG K] 3’3’?

e The indent to all the lines except the first line of a paragraph. / WITE Bt gt drgd aﬁw
A9 it A BT EST

Correct Answer :-The indent to all the lines except the first line of a paragraph. / WU HY q?'?ﬁ

A5 BlsHR WY JH A5 F1 <
6)
Question Stimulus :-

Which of the following statements on the kernel and shell of the Operating system is correct? /

SATRFET RRCA S Fd ay Wd & Rug & A= & A Fi9 a1 a ag 82

e Kernel is the heart of the Operating System, which allocates time and memory to programs,
handles communication and file store.



Shell is the interface between the user and the kernel. / - S(TURfeT RieeH &1 H8T HIT %’,
TRINT P! I T4T A 3Tdfed a1 8, PRI 9UT BIsd R e5d Har gl

R YT 9UT HA b T Se3hd BT 2 |
e Kernel is the central processing unit.

Shell is the GUI for the system.

| Fid Aed FRARAT gfe 21

U Rew & faw gur g g1

e Kernel is the operating system eg. Windows, Linux etc.

Shell is the Application that run on the system eg. Calculator, web browsers etc. | B STORTET
Rireew g1 8, SereryT & forg fasi, formew sanfe | e v iz gl 8 ol RieA R
¥ BT 8, 3TV & U Sepdex, A9 ISR FAT |

e None of the above / ?mhaﬁﬁaﬁ's‘qé’r

Correct Answer :-Kernel is the heart of the Operating System, which allocates time and memory to
programs, handles communication and file store. Shell is the interface between the user and the kernel.

| P TR e T HBT U &, TR &1 0T 94T AR} 31dfed Hear 8, FRAHI=
awwﬁ%ﬁm%ﬂaﬂwawﬁa%nwmﬁm%l

7)
Question Stimulus :-

What is the protocol that is used for downloading a file from a server? / dg DI AT Yicipid % oraeT

ST FaR | I3l SISTaIS B & forg faar sirar g2
File Transfer Protocol (FTP) / BIgcl m Wﬁ
Post Office Protocol (POP) / UIRE 3TThd Ueidid
User Datagram Protocol (UDP) / oI} ST Neldid

Hypertext Transfer Protocol (HTTP) / TS'IETR%W m melpid

Correct Answer :-File Transfer Protocol (FTP) / BIgd m malhrd
8)
Question Stimulus :-

A program relationship in which one program requests the service or resource from another program,
which is dedicated to providing the type of service is called /dg ™ Rl foad
TS TR Afda a1 e & fore g 3 SRy 3var 8, St 1 0 718 Ja1 ue™ 1 & g
R i ¢, TE HEaTdl g -

¢ Cloud computing / ¢3S H”ngﬁ'ﬂ

e Client Server / FAISC IR



* Peer-to-peer / fﬁw-g-fﬁw

e None of the above / s'ﬂﬁ | a’ﬁ—&g :l—bpf
Correct Answer :-Client Server / FATSC IR
9)
Question Stimulus :-

Which of the following is not a core Operating System (OS) component? / T o 9 T BIR SITuRfET

Rreew (0s) FHAe T8 82

Process Management / UTa AqeHe
Memory Management / ANRY AR
I/0O Management / 1/0 AqeHe

Database Management / STy AAwHe

Correct Answer :-Database Management / SeaY AqeHe

10)
Question Stimulus :-

What is the shortcut key to toggle the capitalization of a sentence in MS Word (ver. 2007 onwards)? /

= A A i W AWTdHe- BT MS Word (@91 2007 TUT ST T dTeh) H aT9T b bfUcarsAHz—
&I ehTa o1 & R 2

e CtrI+Shift+A

o Ctrl+Alt+A

o Shift+Alt+A

e Ctri+Shift+Alt+A
Correct Answer :-Ctrl+Shift+A
11)
Question Stimulus :-

Which of the following is not an example of a non-volatile memory? / A dd @ q”ﬁ-aﬁams?r

AN HT IS8V 781 82

e EEPROM

e Flash memory / ST AN

e SDRAM

o Hard disk / TS [

Correct Answer :-SDRAM



12)
Question Stimulus :-

What is the tool in MS Word that is used to quickly apply the same formatting, such as color, font style
and size, and border style, to multiple pieces of text or graphics? / MS Word H G Capk:| ed %

T ST ¢Re a1 AP & 3D sl W THIH WIHIET divd U § 3Tg H3 & forg
o SITaT 8, 9 6 PR, Wive WIS YT ATS, dUT dieR WISa?

Styles / ¥cIged

Font Effects / BIT s'f’ﬁ%'

Copy to clipboard / Paste / Caui| [ feauaIs /i
Format Painter / BTHE Uax

Correct Answer :-Format Painter / W\ﬁa ﬁ'ET

13)

Question Stimulus :-

Which of the following is not an Operating System? / e ° O T e SiTmRfeT Rvew &t 2
e Symbian / fafreaa
e Android /QE'\I‘HTS’
« Berkeley Software Distribution (BSD) / ¥l AlteduR fEweqR=

e MS Outlook / MS 3T3CIP
Correct Answer :-MS Outlook / MS ST3CP
14)
Question Stimulus :-
What does 64 bit computing mean? / 64 fae &TFQIE‘T &1 3 %?

e 64-bits indicates the word size in a processor. / 64-1%2', R # Qo & TPR P HhdPH %

It means that the microprocessor is able to support more RAM / SH®T 3 % & m‘s;aﬁuﬁw
IR AURIFH RAM TUIKE B3 W A& §

e Calculations are faster in a 64-bit processor machine / 64-fae uﬁw = o TI'U'F'lTQ' aﬁ Eﬁ?ﬁ

e All of the above / mﬂﬂﬂﬂ-ﬁ

Correct Answer :-All of the above / m It
15)

Question Stimulus :-



In MS Excel (ver. 2007 onwards) what does the ‘Name Manager’ feature do? / MS Excel (avh 2007

TYT SHY 3 a1el) A, 99 AR’ Bl T $IdT1 872

o It changes the names of the rows and columns (eg. Column AA can be renamed to ‘Price’, or Row 16
to “Total’) / UG TS (rows) Ud BIARH & TH TG § (SCIETUT P foIE BIAH AA P UG, TT
Row 16 DI Tlee ATH faar oIt g a1 8)

e It changes names of worksheets based on certain conditions provided in the feature / g PR

oy @1 7S fafkre fRufaal & SR wR adh=iiey & 99 seaar @

o [t creates Named cell ranges, functions, constants or tables for reference in functions, formulas

etc; / TG TS A ¥ol, HaRM, HIec U1 HaRM, Bl # ¥pId & fore ¢ad fbue srar g
o All of the above / UG Jat

Correct Answer :-It creates Named cell ranges, functions, constants or tables for reference in

functions, formulas etc; / g TS ﬁﬁiﬁ, WF‘L PIce gl WFT, W\ﬁi?ﬂ AIBIA & ﬁfQ' o9d
e BT @

16)
Question Stimulus :-

Which of the following is correct to align h1 tag to Right Alignment? / hl %’T Ca Right Alignment A

TATsA B3 & forg e # & o1 w1 faweu wdt 82
e <h1 align = “right”> ... </h1>
e <hl alignment = “right”> ... </h1>
e <hl tag align = “right”> ... </h1>
¢ h1 cannot make Right Alignment / h1 Right Alignment T'|g}f78|7'|T b dl %
Correct Answer :-<h1 align = “right”> ... </h1>
17)
Question Stimulus :-
A file system is described as the way the files are organized on the disk.

Which of the following is not a specification for a File System?

/' PIgd RIRTH B IH TP S =Y H JHSI o GobdT ¢ O d8P A gy fevp )R sqafRia
g &1 A A O o wig e Rvew w1 fafAdwr g 82

e NTFS

e MFS

e ISO 9660
e ISO 27000

Correct Answer :-ISO 27000



18)

Question Stimulus :-

In MS Excel 2003, You can copy data or formulas / MS Excel 2003 ﬁ, 3MY a7 'CITW\I:{?ITGI &1 PIUL B
qHd g -

With the copy, paste and cut commands on the edit menu / Q'%E ﬁaﬁ ﬁﬁ, U dYT Hc
PUISH & GRI

With commands on the shortcut menu / QTd®He ﬁﬁ‘%m & GRI
With buttons on the standard toolbars / %€ S S [FSEIRS & e~ & G
All of the above / SURIET I

Correct Answer :-All of the above / JUIIad T

19)
Question Stimulus :-

In MS Word, With which view can you see how text and graphics will appear on the printed page? / MS

Word ¥, frd o7 & TTY 310 98 3@ 9P d g [ caRe ad Uriha fiids 0o iR 3 e ?
e Print Layout/fﬁfﬁm

e Outline / AT3CEIg
e Web Layout/aﬁa\’rﬂﬁ?

« All of the above / JURIGT i
Correct Answer :-Outline / IT3CdIg
20)

Question Stimulus :-

Which of the following is not true about a Modem? / Aied & (g A = A A ®Tad qﬁ%"

e Modem is a device which modulates / demodulates carrier waves with digital information to

transmit the data / ATSH TP f&aAT13H 8 S ST ciaitie H1 & forw Hivar aoq ot feforea
3PIURM & 91y Higae / fEuigae el @
e Modems are measured in terms of speed by the amount of data they can send in a given unit

time - eg. bits per second./wﬁwaﬁﬁmwﬁmmﬂﬁwmaﬁwaﬂﬂs
& 1T o1t 8 1 9- faea ufa 9Fs|

¢ A modem shares the internet connection with multiple devices by dispatching packets of

information/WW%WWW@WW%WﬂW
PR AT ST 3

« The modem communicates with the Internet Service Provider / ATSH '&"E’ﬁ? gfds lﬁ'aTs'ST &

1Y HRfIdhe Hdr g



Correct Answer :-A modem shares the internet connection with multiple devices by dispatching

packets of information / AieH wﬁw—r & Ude fsT Fd 8¢ AP ﬁ'ﬁﬁﬁﬁ & 1Y W
ST AT Pl &

21)
Question Stimulus :-
In MS Word, End Keyisusedto ./ MS Word ﬁ, End Key T T -

e Moves the cursor end of the line / I BT GIES] & 3 | &rdT %

e Moves the cursor end of the document / ER DI WE' FIaA A e

e Moves the cursor end of the paragraph / U P UTITE & 3id H wTdT 8

e Moves the cursor end of the screen / PR B PHAB GI?T'J?[?I'IT'IT%
Correct Answer :-Moves the cursor end of the line / PUY BT GIES] & 3d | ardT %
22)
Question Stimulus :-

In MS PowerPoint (ver 2007 onwards) what is a handout master? / MS PowerPoint (aﬁ-—r 2007 4T

TN 3T aTel) | §S TS AR T &Il 82
o A master of the notes that is maintained by the speaker / AR gRT GIﬂTfEI?I’ T-ﬁ'(.{'\"-l DT HICY

A master that controls the appearance of the printed handout / HIXCR, o f& fiies Essmse &t
fearae o) Fafa sars

The master print out of the complete presentation / 11% Uole I HT AR flie 3mse
None of the above / SURIGd A & $ gl

Correct Answer :-The master print out of the complete presentation / 03' TSl &1 AREX fiie sirse

23)

Question Stimulus :-

In computing terminology, what is a Firewall? / W CARICAELS] ﬁ, WIaRaTd ol %?

e Itis an anti-virus protection software that should be installed on an Operating System to prevent

malware getting installed. / Www-mﬁmmw%ﬁﬁmaﬁm
1 ¥ A4 & fore SiTuRfd Rvew # Svera fvar wmm =nfae

o Itis the system of restricting user access to the computer, by using the Credential Manager of an

Operating System. / Tg STIRTET ey & for s Rraa ARwR & STANT §RT $LR dF ToR
T B Vb T R ?

e Itis a network security system to monitor and control incoming and outgoing network traffic

based on security rules. /WWWW GITQITR_d?Fﬁ?&FTH?ﬂ m@m
¢fre & AR Tyt e @3 & e e Aead R Ren @



e None of the above / mﬁﬁaﬁﬁﬂtﬂ

Correct Answer :-It is a network security system to monitor and control incoming and outgoing
network traffic based on security rules. / 4% Ry o w sutia E:W?ﬁ-m GKI
Aead ¢fre ot AR gyt fRifa w1 & fore te Aead Raaiivd Ren @

24)
Question Stimulus :-
What is the port used by the HTTP service? / HTTP Ifda & gR1 {59 uid &1 A far siran %?
e 0
e 80
e 1024
® 065525
Correct Answer :-80
25)

Question Stimulus :-

Which%m'ganization defines the web standards? / DI T Gﬁl‘ﬁﬁﬁm a9 @3@ CARIEEY RG]
PIAT8?

e Microsoft Corporation / msaﬁv‘fqe PIURIA
« IBM Corporation / 3T3aITH HTURIM

e Apple Inc / TS §P
« World Wide Web Consortium / I¢S qigs 49 HATICTH

Correct Answer :-World Wide Web Consortium / I¢8 qigs A9 HAGICTH

Topic:- General Logical Reasoning

1)
Question Stimulus :-

A man can do a job in 14 days. His father can do the same work in 7 days and his son will take 21 days
to complete it. How long will it take to complete the same work, if three of them decide to work

together? / TS ATGHI T &1 14 fY A & Ipar 81 I9F a1 S srd A1 7 e A mr v
Thd § 3R ITPT 3T I8 T HIA & ford 21 fe a1 afe 3 i ary frae: v o1 &1 Hga
B, A1 I I B B FHTE B34 A ford1 THg T

.

3 — days
1

e



Correct Answer :-
2)
Question Stimulus :-
The sum and product of the equation 2m? - 8m=0is / THIBIUT 2m? - 8m= 0 BT TN 3R UG 3-11'“ -
° 2,4
e 4,2
e 4,0
* None of the above / mﬁaaﬁ | ﬁgﬁ
Correct Answer :-4, 0
3)
Question Stimulus :-
(23/4)x8-(60/12)x6+(3x14)/7=?
o 22
o 25
e 32
o 28
Correct Answer :-22
4)
Question Stimulus :-

If KIRAN is coded LJSBO, then how is SRIKANT coded? / af& KIRAN &) LISBO & ®f&d forar wirar €,
A SRIKANT DY B difed fopar wmam?

TSJLBOU

TSJLBMU

TQJLBOU

TSJLBOV



Correct Answer :-TSJLBOU
S)
Question Stimulus :-
Complete the series choosing the missing letter/s: / Tl &R AP T C| T PifoTg:
mn__mmnn___ nn__

e m,n,n,n

e n,m,n, m

e n, m, m, m

e m,n, m,n
Correct Answer :-n, m, m, m
6)
Question Stimulus :-

The greatest 4 - digit number divisible by 2, 3,4,5,and 6is / 2, 3, 4, 5, 3R 6 A AU 4-31°F P

I 941 HeT B -
e 9,810
e 9,870
* 9,960
* 9,999
Correct Answer :-9,960
7)
Question Stimulus :-

If the following two squares shown below overlap. which one of the

following options is formed? / af¢ FF= g™ & g o7 Afgeaig
gl af &9 § 9 &9 a1 GFeg a=am




| . o
A
&
-
- »
[ ]
L]
* L]
#
i
-
[ ]
A
L]
T
_
L]
¥
]
L]
[ ]
.’ 'y
*-I
L |
; ! >

Correct Answer :-
8)

Question Stimulus :-

If 1% January is Sunday, then 2"d February will be ./ gfe 15t Sa8) o1 IqaR 8, Y 2nd BRadh
G| B

e Monday / AR
e Tuesday / QAR

e Wednesday / §YAIR

e Thursday / AR



Correct Answer :-Thursday / ¥=dIR
9)
Question Stimulus :-

Simplify: / T FIfAT:

|3 3 1}
f={=+]===]
Il1 :' \Ii
- - o
W
5=
&
° =
. 5
-
g =
° 5
.
o —
z
° =
b
&=
5

Correct Answer :-
10)

Question Stimulus :-

In a certain code language, dra sonc fert means win my heart; brip seda sonc means famous heart
surgeon. Which is the word for heart in that code language? / Tt ffa sy ﬁ, dra sonc fert
dI Hddd % win my heart; brip seda sonc ®T Hddd % famous heart surgeon| 3H PIS U H heart &
ford am 21g &2

® sonc

brip
fert

e dra

Correct Answer :-sonc

11)
Question Stimulus :-

Sudhir leaves his home to go to the library and walks 20 m towards east. He then walks 35 m towards
west and a further 5 m towards north. He then turns towards east and walks 15 m. Find the straight

distance in metres between his initial and final positions. / %ﬂ?gﬁwaﬁ%ﬁlﬁmﬁ W
ﬁmm%sﬁvq:q‘ﬁahnoﬁm%lﬁwagu@naﬁehvsstﬂm%sﬁwmﬁsﬁw
®1 3R | f= a8 Yd F1 3R gaar1 & 3R 15 /Y =t § 1 S IR 3R sifaw fRufawl & &=
=t et ot Prariend



2m/2W

5m/5H

10 m /10 #Y

15m/15

Correct Answer :-5m /5 T
12)
Question Stimulus :-
The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / = a
TS JEe ¥ 3HeRY SR HWSHT BT 564 UG § | Tad GAIeH Tgan-id:
i. nbryt76bnuuw ii. nbryt76bnuuw iii. nbryt76bnuuw iv. nbryt76bnuw
o i
o ii
o iii
* iv
Correct Answer :-iv
13)

Question Stimulus :-

If 20 cows eat 380 bales of hay in 15 days; then, how many bales of hay will 15 cows eat in 10 days? / TI'% 20 Y

g °T & 380 T3, 15 fe A @t € 4, 10 f N A 15 M Y& w9 F fpaq g @i
e 190
e 210
e 165
e 320
Correct Answer :-190
14)
Question Stimulus :-

Find the odd one out: / fauH JTd B :
1, 2, 6, 21, 89, 445

e 6
e 89
e 445

e 21



Correct Answer :-89
15)
Question Stimulus :-

A person walks at a speed of 5 kmph for 6 hrs and at a speed of 4 kmph for 12 hrs. Find his average

speed. / T T 6 gUl & A 5 fpt ufa gve &) Irer uR Iarar 8 3R 12 gvel & ford 4 foret ufa
YU &} ATl WX IadT 8 | STP! 3 91 FApiferd |

4.33 kmph

5.33 kmph

6.33 kmph

7.33 kmph
Correct Answer :-4.33 kmph
16)
Question Stimulus :-
Find the value of 55 +60-3-2/2/55+60 - 3 - 2/ 2 &1 UT w1 |
e 27.5
e 55
e 111
e 112.5
Correct Answer :-111
17)
Question Stimulus :-

In the word 'BROODING’ each letter is replaced by the letter preceding the letter in the alphabet
series. What will be the 5™ alphabet in the changed word? / 'BROODING’ ¥Tg T Ud® 3M&R Pl

&R ST H IS Ydad sraR | ufreTid v frar ar) uikafia e § 5 siaR a1 g

e H

A
e C
P
Correct Answer :-C

18)

Question Stimulus :-



Complete the series choosing the missing number: / Tt J&AT ABY Il Gl T Piforg:
3,6,18, 72,

o 144
e 216
o 288
e 360
Correct Answer :-360
19)
Question Stimulus :-
181-31+(150x3)/50-(170x20)x0="?
e 159
e 168
e 170
e 189
Correct Answer :-159
20)
Question Stimulus :-

A's salary is 30 % more than B. B's monthly income is 20 % less than that of 'C'. If the difference between the
incomes of A and C is 800, then what is the monthly income of B in rupees? / A &1 3T B A 30% 3Iftd %I B PI
RIS 3T 'C' | 20% $H g1 TfS A 3R ¢ Bt 3T F FH 3iaR 800 8, Y U4l # B F AIRS 3ma
R E:

e Rs. 20,000

e Rs. 20,800

e Rs. 18,000

¢ Rs. 16,000
Correct Answer :-Rs. 16,000
21)

Question Stimulus :-



In the sequence shown below. which figure comes next? / dRr @R ¥ &7

Correct Answer :-
22)
Question Stimulus :-

The series given below contains a sequence of numbers. Identify the incorrect combination: /S TI%"

YT | W3 BT HH SURRIA § | Tad AT Ugdn-d:



5,6,7,8,10,11, 13, 15,19
e 19
e 13
e 15
o 7
Correct Answer :-13
23)
Question Stimulus :-

Shanthi and Rani start a business investing Rs. 85,000 and Rs. 15,000, respectively. In what ratio
should the profit be divided between them after two years? / Trifar 3R T ST 85,000 3R
15,0003 fA% HX TP UG JR= Hd ¢ | &) T 916 3% arg a1 b srgura # favnfora
g Tfgd?

e 3:4
e 15:23
o 17:23
e 17:3
Correct Answer :-17 : 3
24)
Question Stimulus :-
Average of 3, 6,9, 12, 15, 18, and 21 is / 3, 6, 9, 12, 15, 18, 3fi¥ 21 BT NTA & -
e 9
e 15
e 12
e 18
Correct Answer :-12
25)
Question Stimulus :-

If CRICKET is coded BOHBJDS, then how is BASKETBALL coded? / af§ CRICKET Y BOHBJDS ¥
Pifed fpar STaT @, A BASKETBALL 9 &4 Hifsd foar S

o AZRJFSAZKK

o AZTIDSAZKK



e AZRJDUAZKK
o AZRIJIDSAZKK

Correct Answer :-AZRJDSAZKK

Topic:- General Management

1))
Question Stimulus :-
What is TQM? / TQM &IT §

e Total Quantity Management / cled pifed! AAwHe

e Total Quality Manager / dled SIferdt Ao

e Total Quality Management / aed pifeard! AAsHe

¢ Time and Quality Management / CISH Q'C‘;" P! AT
Correct Answer :-Total Quality Management / ded Iferd! AAsHe
2)
Question Stimulus :-
Balance sheet is a statement of / ¢ U (aﬁv Qﬂ?) DT faazur %:
Assets and Liabilities / R uf¥eafxy Td aq?ﬂﬁ'lﬁ G2l
Sources of funds and application of funds / Rk qFrﬁ & drd 'Qa 'q\Trﬁ &1 fafera
Both A and B/ A €4 B &Il
None of the above / Eqﬁ I aﬁ'é Hﬁ

Correct Answer :-Both A and B/ A Td B aTﬁ

3)
Question Stimulus :-

Which of the below given option deals with division of labour and increases the employees skills and efficiency. /

e ¥ & o1 1 faweu, yu-fyurer @ w4t § ok sHaival & sz iR srig=adr & Jerdat g1
e Chain of command / 3ITGRT & §@aT
e Span of control / =0l faaR
e Work specialization / BTY fa=iugrar
e Departmentalisation / TAIHTRIAT
Correct Answer :-Work specialization / T4 faRusrar

4)



Question Stimulus :-

A good marketing plan provides vision and WAL 33t fagur Tﬁ'\_rl:lT, Wfﬁ?ﬂ 3R
WeT Bl g

Direction/ ﬁ'S{IT

Relationship / HdY

Product thrust/ 3dTE YONG
Control/ fRE=OT

Correct Answer :-Direction/ f&=IT

5)
Question Stimulus :-

In which of these types of simulation techniques are the actual work conditions simulated and the
equipment used by trainees is similar to what is used in the job? / ERC K] P A1 SIPR qAB-IH BT
UPR, dRaid® $rd feufaal o1 Ui wear @ iR uikregei gRT Iuged SUHRUI, ST & SUURT a1 914 arat
USRI & M 3?2

Role playing / ‘ﬁ[&ﬁﬂ Ay
¢ Experimental exercise / Ura e ST

Vestibule training / m ufgror

Case exercise / faug 31y

Correct Answer :-Vestibule training / 3¢S UiRI&0r
6)
Question Stimulus :-

The demand for a product is said to be if the sales revenue increases when the profit
margin on the product is reduced. / 3FR IIG BT ATH AT HU g S1eT @ 3R a9 faeh Ioea 7¢ Sran @
o T H IS B HITT I EEIGIE]

Price-elastic/ {eU-UATRS

Cross-elastic/ SPTH-UATR]

Income-elastic/ STI-UATHY

Non-elastic/ ﬂ?-m

Correct Answer :-Price-elastic/ JeU-UATRS
7
Question Stimulus :-

Any organisation is supposed to have an invisible unbroken line of authority that extends from the topmost
level of management to the bottom-most levels. What is it called? / foddt ff Srea | ﬁrﬂﬁm HI Th



SERY R HTHT 9161 €, N Yoo & Jais WX A Bad ghd g 99 fed wR w fawaia gar 3159
T BT ATl 82

e Chain of command / THTSXT CLER ]|

e Authority line / UTFRemRoT 3T

e Responsibility factor / IaRerd! PR

e Unity of Command / ST Pt JHTGT
Correct Answer :-Chain of command / THTGXT g
8)
Question Stimulus :-

Which of these is defined as a social system of people who are structured and managed to meet some goals? /

38 A T AT B TS a1 & w9 W gyt 8 o @ 3 urtd de § Wi ok gwa gu e
e Social System / TATHTITS TR
e Organization / TS
e Open System /@?ﬂaqaw
e Process / uferar
Correct Answer :-Organization / G
9)
Question Stimulus :-
is a combination of various sources of capital. / 'Q\T!ﬂ & fafira Aal &1 e %I
Capital structure / QFﬁ AT
Capitalization / TrﬂWT
Financial Structure / fa=iRT Ia=T

Amortization / m

Correct Answer :-Capital structure / GOl TR=T

10)
Question Stimulus :-

A collection of data designed to be used by different people is called a/an / ST &1 TP JIT, ot sra-
T RN GRT S¥ATE 6T o & e fEemg= far wman @, FEamngl

e Organization/ TS

e Relationship/ A

e Database/ S'IE'IQW



e Schema/ TURET
Correct Answer :-Database/ STTa¥
11)
Question Stimulus :-
The SWOT approach assesses an organization's: / SWOT chﬁ?-[, TP TS & BT Th T hdl %I
e Signs, Worries, Objectives, Techniques / CT&lUI, ﬁ'-iT'IT, B%W, G
e Strengths, Weaknesses, Opportunities, Threats / dlehd, Eh_qrrﬁﬁ'q'i, S[AYR, T
e Studies, Workflows, Opportunities, Trials / 3T, Cap] Udle, 3dd, qtequr
e Speed, Wants, Order, Timing / a'lT, STAAH T, GI'I%QT, qHY
Correct Answer :-Strengths, Weaknesses, Opportunities, Threats / dTehd, W\_Xﬁﬁ'q"l, SR, TR
12)
Question Stimulus :-

is a more narrowly defined group, typically a small market whose needs are not well served./

e HHa TE, 3 9R W TS Biel I STR BT @ o s ave | HaRd T8 2

Niche Market / 3TIT dTSIIR

National market / ?T@'q CLSIES

International market / GI?R'['@T[ CISIES

Import market / SITATd ISR
Correct Answer :-Niche Market / Tl dTolIR
13)

Question Stimulus :-

The sequence of marketing organizations involved in bringing a product from the producer to the consumers is

%{;redto%as/ IuMigarei & fore fAwfar @ ve Saurg @M o e fauvE el & %9 91 39 U A fAfds
AT g -

Promotion / Ufd

Channel of distribution / fa@=or g=for
Product / 3dTq

Price / ®IHT

Correct Answer :-Channel of distribution / fad=oT IO

14)

Question Stimulus :-



Which of the following statements is not true? / ﬁl’ﬂ' - | CAE| 9Tl Y4 9 qﬁ %?
e Bond is a fixed income security / qi-s, frraa ema & gl
e It promises fixed amount to the holder / ﬁ, YR Bl Udh fAfa wfRr &1 dargl ddl %I
e It has a maturity period / Eﬂﬂ'ﬁ TS ufvuedr 3rafdr gt 31

e When the company makes losses, paying interest on the bond is not mandatory to the bond

holders / T§ &Y IR gleit &, Al GiS YRDI B TS UR T BT YA BT G TE1 g 2|

Correct Answer :-When the company makes losses, paying interest on the bond is not mandatory to

t%he bond holders / & HUI FIFIRG gIdl 8, O 915 YRS H1 gis W T BT YA BT ffard g gan
|

15)
Question Stimulus :-
Efficiency is a measure of / &HdI, H® ?
e How hard an employee works / T PR} fpa-l Ag—d | STH Sl %I

e How effectively a manager supervises his subordinates / g yopr yuTat 3| I TP YdYh 3
=TT HTH B AT AN BT FHTIAT BT &

e How profitable a business is / Th qqIATT fra ypR GIKGFRED %

e How productively resources are used to achieve a goal / 5T TR T80 B T 1 & fore SaaTe®an
HATEAY BT FTATA PR T B
Correct Answer :-How productively resources are used to achieve a goal / 5T YR T80 & U 1 &
1T ScaTgdar TATUHT FT FHUTA PR IR &
16)

Question Stimulus :-

Which of the following states that HR policies and practices should be in alignment with the goal of balancing
the individual’s and organization’s needs? / ﬁl’Hﬁ' ﬁ m’l}l ﬁT T %'ﬁ?m GﬁT HAMSATHD
SATIRGHATSN P TG & AT P 1Y AT TATYF PI Aifaar iR Srivomelt ve Jv@or & g arfee?

e Human relations approach / Wﬁﬂm

Scientific management approach / WWW?@W

e Human resources approach /WWWE’@@W

e Personnel management approach / WW?‘HW
Correct Answer :-Human resources approach / Wwweﬁaﬁm
17)
Question Stimulus :-

One of the major tasks of a manager is articulating a clear vision and energising and enabling the members of the
organisation so that they understand the part they play in achieving goals. This is called /[ h




S e® & T HTal 8 o b, TP grafal B fHaued ST 3R T & Tl &) J&H g St
AT, A1 A&l B Ured HI4 | 9 -1 YfHPHT B I U¢ | 98 FHgardal g

e Communication / AR
e Leading/ ﬁﬂﬁ
e Punitive action / Wmﬁ
e Strategising / JUAf
Correct Answer :-Leading / ﬁﬂﬁ
18)
Question Stimulus :-
Funds for a business can be raised through / T UTUIR & ﬁnz IBI] 3'\"1%‘7 1w I delIT ST Hohdl %:
e Equity only / T 3f@d}
e Debt only/ i wor
e Both debt and equity / 50T Td ?{@'& arl
e None of the above /thﬁa?r ﬁ ﬁ aﬁ's‘ qﬁ
Correct Answer :-Both debt and equity / 50T T4 Sf@¢l gl
19)

Question Stimulus :-

hiatch the below given personality with job types /[ A U AT e iddcd I I TR o Tre He |

Vocational typology / SATSHITAF Personality / SafRaea
eI e

1 Real[gtfgg’lﬁ]‘[&iﬂ'@' A. Imaginative, Idealistic, Emotional /
Feganiie, HCRAR], dadicHE

2. Artistic / ellcHe B. Analytical, Curious, Independent/
favergomcaes, forang, Tads

3. Investigative ,-"3-'|F6rﬁﬁ' C. Conforming, Efficient, Inflexible /
Helw, H2Ael, HeArd

4. Conventional [ 9RFINH D. Shy, Practical, Stable /
orHfe, easTiis, R

1.D,2.A,3.B,4.C

1.A,2.B,3.C,4.D

1.C,2B,3,D.4.A

1.B,2.C,3.A,4.D



Correct Answer :-1.D,2.A,3.B,4.C
20)
Question Stimulus :-

One of the measures of the profitability of the operations of a business is / T HUTUIR & TaTad P ATHY T &
AUHATH & -

e The gearing ratio / Tfa=ia STJurd

e The current ratio/ AT STJurd

e The internal rate of return / 3D Ufdwe g3

e The debt-service coverage ratio / FHUI-JdT Havel STurd
Correct Answer :-The internal rate of return / 3TdR® Ufdwe g3
21)

Question Stimulus :-

In which of these incentive methods, employees earn a share of the company’s profit which is normally

calculated as a percentage of local profit? /Emﬁmﬁ@mﬁ, FUATIY] BT HY &S ATH BT
T T yred gt & FoTast A= 0 # R a4 & T Uia=rd & &9 01 gl 82

e Tax sharing / PI-HgHTSIH

e Annual bonus / mmﬁ?

e Profit sharing / CITH HAgHTSIH

e Non-monetary incentives / ﬁ?-ﬁ%lﬁm
Correct Answer :-Profit sharing / CITH g HTSIH
22)

Question Stimulus :-

The process of transferring the debit and credit items from a journal to accounts in the ledger is termed as /

TR # SR | Wid d Sfae 3R e wel &) RFiaRkd o3+ o1 uferar sgard & -
« Posting / Ufafee
o Shifting / RITATAROT
e Capturing / ATUFaRT
e Recording / 3fHARGT
Correct Answer :-Posting / Ufafte
23)

Question Stimulus :-



Debit what comes in and credit what goes out is the rule of ./ @ﬁ?.’, Sfes Smar % Td »ige
Sife gar ST 31 A 1 au B

e personal account / aUfaI® A@T

e real account / HUfd @l

e nominal account / 3TI-SAY AT

e assets account / UFAUIA] T AT
Correct Answer :-real account / FUfd A&l
24)
Question Stimulus :-

What is the management function that specifies goals to be achieved and deciding in advance the appropriate

actions to achieve those goals called? /EEW?FTH?I'&W %aﬁm%qaﬁmﬁa&u‘raﬁﬁmfﬁam%
3R 3T A& B UNd e & Y rawas Hrfard! i uga A & giAfda w= dar 22

e Organising / SIqRYT BT

. Controlling/ﬁ'd'a'am

e Planning / IELIGE]

e Leading / Aqa
Correct Answer :-Planning / IELIGE]
25)
Question Stimulus :-

What is the sum of money that is paid regularly to the shareholders of the company from profits in the form of

%s%%mk?/agmﬁrﬁmuﬁﬁu&mwﬁwasmwﬂﬁ'ﬁmmW$wﬁﬂ;pﬁrm

e Dividend / ATHTI

e Liquidity / B

e Inflation /'ﬂ?l'\‘tfﬂﬁ

e Retention rate / YIRUI G¥

Correct Answer :-Dividend /?IT‘J-I'i'-‘ZT



